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KNUTHMORRISPRATT(T[1..n],P[1..m]):
fail[1..m] « ComPUTEFAILURE(P)

je1
forie—1ton
while j > 0 and T[i] # P[j]
J « fail[j]
ifj=m ((Found it!))
returni—m+1
jej+1

return NONE
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P[1.. fail[j]—1] is the longest proper prefix of P[1..j —1]
that is also a suffix of T[1..i—1].

P[1.. fail[j]—1] is the longest proper prefix of P[1..j —1]
that is also a suffix of P[1..j —1].
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KNUTHMORRISPRATT(T[1..n], P[1..m]): COMPUTEFAILURE(P[1..m])./ * |
fail[1..m] < CoMPUTEFAILURE(P) j<0 ll:\zl'ﬁ\)é{a"‘ﬁ]
je1 fori<—1tom ‘ TR
for i « 1 ton . . fail[i] « j (%)

W) while j > 0 and P[i] # P[j]
e j e faill )
ifj=m ((Found it!)) N——
returni—m+1 y J
PR return fail[1..m]
return NONE
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B 0 ifi=0,
failli] = max{failc[i —1]+1 | P[i—1]=P[fail’[i — 1]]} otherwise.
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je0,i1 $ A B R A C A D A B R X..

je—j+1li—i+1|$ AN B R A C A D A B R X..
fail[i] « j 0 1

j « fail[j] $ A B R A C A D A B R X
g T e e e
fail[i] « j 0 1 1

j « fail[j] $ A B R A C A D A B R X

je—j+1l,i—i+1|$ A B R A C A D A B R X..
fail[i] « j 0 1 1

je—j+1l,i—i+1|$ A B R A € A D A B R X
fail[i] « j o 1 1 1 2

j < fail[j] $ AN B R A € A D A B R X
j — fail[j] $ A B R A C€C A D A B R X

je—j+1li—i+1|$ A B R A C A D A B R X
fail[i] « j ¢ 4 4 1 2 1 i3

j « fail[j] $§$ A~ B R A C A D A B R X

j «— fail[j] $ A B R A C A D A B R X
P e I e
fail[i] « j o 1 1 1 2 1 2 1
T e L W e
fail[i] « j o 1 1 1 2 1 2 1 2
T e e
fail[i] « j o 1 1 1 2 1 2 1 2 3
e
fail[i] « j o 1 1 1 2 1 2 1 2 3 a,.

j « fail[j] $ A B R A C A D A B R X.

j « fail[j] $ A B R A C A D A B R X.




